Efficiency vs P,

- 0.2
2 : : :
L 0.18F -t R SRRERRRLREEE

> r . . .
L R A N SRR
9] F : : :
o o . . -
E014__' """""" " """""" """"""
9] F : :
0.12F---rrrreirrrmeeenes Feeseenees e
- o oo

0.08f--------- ------------ ........... ............
Ejf,’fi"""ZHZ§ZZZZZZZZZZZZ@,’ZIIZ'ZZZZ;ZZZZZZZZII
002t . "-+#¢ﬁiﬂ+-~{ ------------

1.0

Ratio

[y

107 1 10 prT (Ge\})o3

—s=— DQM_V0001_R000000001__Global__mkFitbasel_ RECO
—— DQM_V0001_R000000001__Global__mkFitbase2_ RECO

= 0.2
@ i i
S A N
(C) - N . . . .
R S A
gy
E014F - odeeenddi b B
0.12
0.1
0.08]
0.06]
0.04
0.02

.............................................

Ratio
=

Efficiency vs ¢

£0.05
0
2.045
2
$0.04

T[T I




	Contents
	Page 1


